2009 = =0l &b 2B A

SM: 3 H
Hz: SH=2E
cl: A2l (&2 &2
SA-HH O (SIH) - NEAY - BaS Aol e HRZ2
2,379,348 4,088,205 A 1,708,857
= 25,000
Al 2,354,348
29 2,294,132 3,980,993 N 1,686,861
& 25,000
Al 2,269,132
3 A 2el 60,920 62,100 A 1,180
SIAH 2l (KA 60,920 62,100 A 1,180
201 LErEAH| 48,700 59,400 A 10,700
01 AtR22ld] 41,700 55,400 A 13,700
OgtZH| 32,500
—3HEERLY 500
—3SHEAN 7L L oIy 5,000
—S2A & ZgHY ARE 2L 6,000
—NSEHED| 22| 5,000
—20083 HAHE MHREEINM &4 IE= 10,000
—20083| HHHE MPEIA A = 6,000
o284 8,000
—ZAR Y 8,000
O2 | 1,200
—ZA2AA Y THEAHZEH EZ20HAH] 1,200
02 3294 7,000 4,000 3,000
Os32= % AHA 7,000
—3HAEZRE WEHES B8 7,000
202 O44| 9,120 0 9,120
01 =2WAbI 9,120 0 9,120
O=2LHAH I 9,120
203 YRFEH| 900 1,000 A 100
03 AMF=XHIFZAH| 900 1,000 A 100
OQZNEA Y SAR)| dR2FA 900
301 LBt A= 2,200 1,700 500
10 SAIAHIBAZ 2,200 1,700 500
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©O3l A
CelA=E
C3de A=A

SA - Ao (F) - NEAY - Ba S Ao e H RS2

-y 150, 000& *30H 4,500
— BN 110, 0002 =304 3,300
—0lsgAMe 110, 000& *50H 5,500
—MAERI 30,000& 734 2,190
O Xt 15,850
—&E= 210,000& *5JH4 1,050
—ESE=AME 210,000 =304 6,300
—HAE 170,000 =504 8,500
OJIEtHI S 5,000

=235 75,160 1,474,331 A 1,399,171
= 25,000
Al 50,160

ISRMA 2H2(Bx) 25,000 17,521 7,479
& 25,000

101 ol t| 10,000 8,021 1,979
& 10,000

10 JIZHH22sSEs 10,000 8,021 1,979
O=STHAAERZAL 212 10,000
= 10,000

201 eI 10,000 5,500 4,500
& 10,000

01 AtE2teldl 10,000 5,500 4,500
Oget=ZH| 10,000
—NHEY U B2 10,000
== 10,000

202 OdHl 5,000 4,000 1,000
& 5,000

01 =3LUAbI 5,000 4,000 1,000
O=STHAAEHZ AL (4] 5,000
== 5,000

SN 22l (KA 50,160 1,456,810 A 1,406,650

101 eIAH| 5,160 42,510 A37,350

10 JI2ZHHZ22NsSEs 5,160 42,510 A37,350
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CHel: BB A (G- da
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
OSSTHAAEHZ AL 212 5,160
—JlE=s 32,0003 60 x2H 3,840
— =g 32,0003 12523 768
—AX==E 32,0003 »3& »2H 192
—2hAlH| 3,000 x60 x2H 360
201 L3 5,000 8,500 A 8,500
01 At 2eldl 2,000 6,800 24,800
Oget=ZH| 2,000
—SEANEXN & EHTS 2,000
02 ==29gHl 3,000 1,700 1,300
o=Z22 % MA 3,000
—=2Z2F M4 DN &5 3,000
401 A &HIZ204YI 40,000 1,401,000 21,361,000
01 A&l 40,000 1,401,000 A 1,361,000
OFREdHA HEES 15,000
OxRexddgs EH 25,000
A2 1,836,972 1,958,252 A 121,280
EHALEHZ ZHI(KHA) 1,836,972 1,438,252 398,720
101 eIAH| 860 0 860
10 JIZtHZ2Z2NASEs 860 0 860
OFASEZHl FY 860
—Jl2a 32,000 x20 x1H 640
—F= =g 32,0003 x4 x1H 128
- PN 32,0003 1 x1H 32
— 24| 3,000 x2041x1H 60
201 er2oty| 598, 112 590,442 7,670
01 AtE2teldl 76,240 66,240 10,000
Oget=gH| 76,240
—3AN AYDIES&E 2
4, 1602 *250 2 6 0H 6,240
—E A7 2 40,000
— S A A 22 30,000




A 3 H D
B 5Ky
el HA2Y (et9l: &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
02 23293l 521,872 524,202 22,330
O=s32= ¥ AHA 341,872
—REOLdER3 1,440
—SFNERES 11,000
—MIINEBE 181,432
— 4ot R23 48,000
— 3 M aldl 100,000
OdzH| 70,000
—&AI JtARZ 70,000
OAl&&HI= XYl 110,000
—dAMANEE SA 110,000
307 glz2told 170,000 80,000 90,000
05 QIZtEZ 170,000 80,000 90,000
o228 3489 110,000
O=& =&+ 2289 60,000
401 Al&HIL=HY 1,068,000 767,810 300, 190
01 Al&HI 1,065,000 764,810 300, 190
OFALEHl & AIE A 20,000
O=d & SHs FASEZFHI 85,000
OHZHAIRA & AF(112m) 70,000
OUHLSAIRA HEI(69m) 40,000
OuUsAREL =XHE =& 50,000
O33FHAF 2XI0HLHI (11Xl 2,945m") 800,000
03 AIZ=C0HHI 3,000 3,000 0
OFAEEl AIE201YI 3,000
HY2AZUI (3 H D) 75,216 97,212 A21,996
ol 2| 15,000 32,960 A 17,960
ol (KA 15,000 32,960 A17,960
203 YRFL&Y| 4,200 4,200 0
04 BENM2ITRFLEY 4,200 4,200 0
OFRMSIYRFAI 4,200
204 XN @zsY| 10,800 12,600 A 1,800




A 3 H D
B Y22 (SIHD)
chel: oz 2yl (649l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
03 SRS ZH 10,800 12,600 21,800
O A - HLHREH 50,0003 9% «12& 5,400
OZMSSEH 50,000 x5E « 123 3,000
OEARIIHgREY 100,000& 2«12 2,400
Jl2&Hl 60,216 64,252 24,036
Jl2dl (XA 60,216 64,252 24,036
201 B2 I 16,176 15,832 344
01 AtE2teltl 16,176 15,832 344
OFA2Y J1=3H| 16,176
202 O4dl 44,040 48,420 24,380
01 =UWHbl 41,880 46,620 24740
O=3UHbl 41,880
02 FHHOHI 2,160 1,800 360
O Mo 2,160
Hea=s (3 A D) 10,000 10,000 0
HEHH K= 10,000 10,000 0
LHEHHXIE (KHAI) 10,000 10,000 0
705 Ol==3claas 10,000 10,000 0
02 Ol===0lxtae 10,000 10,000 0

OUXI= Z40lXt 10,000




